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D%fm%& < [ WORKSHEET#10 ]

[ Use the method of repeated subtraction o solve the following division problems. ]

1.63+9=[|:| z.45+5=ﬂ:‘] 3. 100 + 10 -

63-9 = 54 18-9 =9
54-9 = 45 9-9=0
45-9 = 36
36-9 = 27
27-9 = 18

63+9 = 7 since 9 is
Subtracted from 63 9
times.

4.75+15-[ | 5.18+2:[ | | 6150+50-

7. Teacher has 40 pencils with her. She has to distribute them
among 10 students of her class. How many pencils will each student

get?
Each student will ge'l'- pencils each.
Division equation for the problem : I] ]

Write the problem as a repeated subtraction problem.
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G2y P
7@ &ﬂ [ Answers ]

WORKSHEET#10

n7 2)9 3)10 4)5 5)9 6) 3
7) > each student will get 4 pencils
> 40+10=4

- 40-10-10-10-10=0
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